Partial Exam 1. B.  12th, November 2018.

Reply briefly and concisely all the questions. Once you have finished the exercise, rename the file as ex1bXXXX.doc, where XXXX is the corresponding NIA of each student. Then, send it to adeeconometrics@gmail.com, including ex1bXXXX (again substituting XXXX with the corresponding student NIA) in the subject.
We want to analyze the evolution of the labor market of an economy. To that end, the file pex1b.wf1 includes complete information that covers the 1994:1-2018:4 period for the following variables:
gy = increments of the real GDP with respect to the one of the previous year, divided by the real GDP. 
gu = increments of the unemployment with respect to the one of the previous year. 

rt =  nominal interest rate
A. Using the previous information, you should estimate a linear relationship between all the variables, using the nominal interest rate as the dependent variable, and answer the following questions (we assume that we use the standard 5% significance level):
1.  Test for the single significance of the parameter that accompanies the variable gu. (0.75 points)

	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


2 Test for the single significance of the parameter that accompanies the variable rt. (0.75 points)

	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


3.  Test for the joint significance of the coefficients of all the explanatory variables.  (0.75 points)

	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


4.  Test whether all the parameters are 0. (0.75 points)


	Null hypothesis 
	

	Value of the statistic
	

	Distribution followed by the statistic
	

	Result of the test
	


5. Which is the value of the coefficient of determination? Interpret it (0.5 points)

6. Obtain the prediction interval for the dependent variable for the 2019:1 period. If you know that the true future value of the variable gy is 3, what is your opinion about the goodness of the prediction? (1 point)
B. According to the previous information, you should estimate the best possible model
7. Copy the model you have finally selected (2 points)

8. Interpret this model in economic terms.  (2 points)

C. Answer the following questions 

 9. Discuss the veracity of this affirmation. “The most efficient estimator always is the one with the lowest variance”. (1 point)

10. Let us assume that we have the following model yt = a + b xt + ut.  If b=0, then y and x are independent. (0.5 point)

